[MpakTnyeckas pabora.
INNorapudmmnyeckme ypaBHeHUsSI U HEpaBEHCTBA.

l. Pemmire ypaBHeHUe:

1) log,(x = 1) =1; 4) log, (4x - 8) = -2;
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2) log,(2x + 1) = 3; 5) log. (x* — 2x - 8) = 1;

3) lg (3 — 2x) = 2; 6) log, (x* + 4x — 5) = 4.
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[I. Pemmure ypaBHeHHE:
1) log (x + 1) = log (4x — 5); 3) lg (2% + 2) = 1g (3x + 6).
2) log5(3-\- -5)= logs(_r - 3); 4) logy(x* — x — 2) = logy(2 — x);

1. Pemure HepaBeHCTBO:

1) lgx < lg4; 3) log,4(4x — 6) < log,,10;
2) log, x > log, 2. 4) log 4 (2-x)<log, 2
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5) log, ,(10 — 2x) > log, ,(x* — x - 2).



